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Candidates shall note that each question will be multilingual,
viz., in English/Assamese/Bengali/ Bodo/ Hindi medium,
for their ready reference. In case of any discrepancy or
confusion in the medium/ version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.

Take = 2—72—, wherever necessary.
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SECTION—A / 34l / 1 /| ®—aTgrl / F—90
Choose the correct answer :
W TeI0h! AR Tfered]
W% Tealb (AR S :
5 R w1 R -
E’rﬁ?s'ﬁ'{ﬁﬁq:

1. Which one of the following is a non-terminating repeating
decimal? 168

TR (FCH! R Ceefa IR 2

e i fRafa (Mmzoffe »iEe 2
TEEM T SRS, SEaaE?

frafafes § ¥ SH-91 3@ A= e TR 87

(b ki e

(@ = :
8 80 . A 455 625

2. The product of the zeros of x2 -15 is 1
x? — 153 *FICILOR 70T T
x? —15-97 SRR 2w el
x2 —15 3 SferE R TR SEE
x2 —15 % S &1 PHBS ¢
fﬂ —15 (DA 15 (¢ 15 (d) —-V15

3. Consider the following pairs of linear equations :
(i)\ 3x+2y=5; 2x+3y =5
(i) 2x-8y="T; 2x-3y =8
Choose the correct alternative. 1
/@ The pairs in (i) and (i) are consistent.

(b) The pairs in (i) and (ii) are inconsistent.
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{c) The pair in (i) is inconsistent, whereas the pair in (ii) is
consistent.

{d) The pair in (i) is consistent, whereas the pair in (i) is
inconsistent.

T4 (A TN ARGeh! [ReEs 41
fil 3x+2y=5 2x+3y=5
(ii}] 2x-3y=7, 2x-3y =8
W R afe Tfered |
Vcaf (i) S (1i) T CIATIEAT 257 |
(b) (i) T (i) I (ARIEEAR RIS |
(c) ()3 CAECH! SPRorS, [R6% (1) R M9 |
(d) (i)d (R AT, Y (i) T @E0] PRI |
e Cafve ReReR (eI Rean o
(i} 3x+2y=5; 2x+3y=95
(i) 2x-3y=7;2x-3y=8
2y e (402 7S |
(@) (i) $3% (ii)}-<7 CETUIGE SR |
(b) (i) &R (ii)-93 (ETTISE TEREE |
(c) ()-97 (ETTIb SRS, 67 (i)~ (TITIb RIS |
(d) (i)-<7 cEref e, BT (i)-9q b PR |
TR SRR SRR S ORRE! T
i) 3x+2Yy=9; 2x+3y =5
(i) x=3y*=7; 2x-3y=8
e TR JerE A g |
(@) (i) ¥ (i) F STHR @REEE |
(b) (i) AR (i) T AR WS
() ()T =T Eent, R () H ST e |
(d) (i) T =T EreEE, TEE (6§ et
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T e aiemor % gwi W fEr fit
() 3x+2y=5;2x+3y=5
(i) 2x-3y=7; 2x-3y=8
Tel fereT gim|
(@) (i) 3R (i) 39T TW G §|
(b) (i) ¥R (ii) <FF m @@ T
(c) (i) g™ G T SEF (i) 1 TH 4 )
(d) (i) I WG & SR (i) F I T B
4. The 30th term of the AP 10, 7, 4, ... is 1
10, 7, 4, ... >S9 AR 309y mehl =7

10, 7, 4, ... SRR 291663 30%Y *mB ogan
10, 7. 4 Hﬂ@%ﬁ"rﬁﬂﬁ 301 faemn sEm

10, 7, 4, ... AR 3 #1 3097 g€ 2 |
(@ -67 (g/ 7 (¢} -87 @) =97
S. Let ABC be a triangle such that AB =6V3 cm, AC =12 cm
and BC =6 cm. Angle B is 1
ABC fqge" AB =6V3 cm, AC =12 ¢m S% BC =6 cm. B @0l
2’7

ABC f&5s AB =63 cm, AC =12 cm &% BC =6 cm. B @
2l

ABC J@memH AB =6V3 cm, AC =12 cm IR BC =6 cm.
B @91 SE™

ABC Py # AB=6V3cm, AC=12 cm 3R BC=6cm %,
T FI B A BRT

(@ 120° MU’ (c) 60° (d) 45°
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-

/l‘he distance between the points (0, 0) and (-8, 6) is

(0, 0) = (-8, 6) [ T e 77y 2’51
(0, 0) &% (-8, 6) ™ ufbx e 7ag ==n
(0, 0) 3R (-8, 6) T HAFY FSRFY ST ST
41 gt (0, 0) 3R (-8, 6) F T A g 2

‘(y/lo (b) 8 ) 6 ({2

Mﬁch of the following is true?

(a) The value of tan A is always less than 1.
(b) The value of cotA is always greater than 1.
(c) sin® :% for some angle 6.

(d) secH =1—52- for some angle 6.

TR (FICH] T ?

(@) tan AS ¥4 MR 1¥SF 7 |

(b) cot AT I R 19(G(F TIET |

() A T 6T AR sinb =2

}U/ﬂ‘m@‘l 9§Wsec9=1—52.

e @mfe 52

(@) tan A-&F 9 KA 1 AT @D |

(b) cot A-ag NI AT 1 (AT T |

(¢) QA 19 6-99 & sin 6 =

5
2.
(d) R @ 6-97 & secH = 1—52
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TETEH e fur?
(@) tan ATH =mT sRwEl 1 feg 32
(b) cot AT wET ewmEE 1 gy Wy

(c) mE=1E 0 9@’ sin 6 =

(c) w@m@’meﬁwSecez?z.
Tfafes # & #9-a wd 27

(a) tan A 9 G99 1 § 8 BT 2
(b) cot A 9N G 1 ¥ ¥ ¥ B
() Tt o1 6 % for sin 6 = 3 @ 2

(d) Terdt =ior G%T%Esecﬁ=lsgﬁ?ﬁ%[

8. The angle of elevation of the top of a tower from a point on
the ground, which is 15 m away from the foot of the tower,
is 60°. The height of the tower is 1

951 B AMWRTI #_y 15 m e B 21 B R »[1 BSBR M To
(F17 60° 2’0 BT Twel 2]

T B MR (W0F 15 m T $ce el @B Ry caee welta e
T (@ 60° 2ET BeEA TSl @

T TERA R RREE 15 m TrumTE e e i R
TR S @ T 60° ST TR steEar S

At < T forg & S AR F TR-Rrg ¥ 15 m @ B, R S Rra 5 e
T 60° 3| AR it S=s Ieft

@ 15m  _pisiam (g %/%m (@) 30V3m
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9. A circle can have _____ parallel tangent(s) at the most. 1
<51 989 99 AR ___ T SHIE ForfS 19 e |
{6 Joed @ @ 1B ST e QRS A |
TH g9 i At W e el -l ) weedt B

@l (bl e (d) 4
10. The degree measure of the angle at the centre of a circle is 1.
The area of the sector is 1

IS4 (FF© FIT0R A 1, ISFNGR I 2

Jeee 0y (e AT 1, gesenita aifer =gem

SEAT fireama Mty g @ e S e 1, SER sseEie s
T 99 o % % U1 w1 AH 1 Tft 2, o sweh Breues i et g

2 2 2

2 nr nr nr
Bt o) &L L,
(@ nur G ), B /df —

where r is the radius of the circle.
TS r B'e JEGR TP |

@A r 2 eiod Pt |

SRTE 7 1 E sheAH 9 @ |

T&l r I I BT T

11. The volume of a sphere is 2887 cm3. The radius of the
sphere is 1

<51 (oMETRd SIS 288 1 cm >, (STERBR T 25

B (SIFTCR SIS 288 1 cm®, (oIFTRBT TIPTY 2l

T e ISR 288 7 cm S, gk W@ S

ToeEft e =61 3T 288 1 cm | e i e @

(@ 2 cm (b) 4 cm M cm (d) 8 cm
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12. The probability of an impossible event is 1
9] SPTER Wo-IR FPIfe 2'H

GIH(H TP o9 SIS 2ol
TG SATe Semsf SR S
TGV T2 ht W B ©

4”0 (b) 025 (c) 05 @ 1

SECTION—B / ¥— Nl / 39—l /| T@—aTgm /| @—91

/Mind the HCF of 96 and 404 by the prime factorization method.
Hence, find their LCM. 2

(T TEMFRFT Aa[6E 96 HE 4049 9. 3. 8. SENed | TWF [
Br2es 71, 3. 8. Tfeed |

(T TOMFIFAY e TR 96 @98 404-99 5. . B, @ I@ |
G (A OIhE o, . 8. (@ @ |

ST HASERTR SeRAm Aessi 96 3R 404 f 2. em. . g | Sfwre
FERA 3. 1. 4. fagA |

HI=T PRES W g0 96 3R 404 = HCF ¥ FIfWg ik fiR e
LCM ¥ hifsg| :

/IAH the perimeter of a rectangular garden, whose length is
’ 4 m more than its width, is 36 m. Find the dimensions of

the garden. 2
Q4 ISP ARPR 2Feld 7Y 4 m @R WE RSNE w9 36 m.
FI6IAE 7Y, 2% o 347 |

GIHb SRSRE AN 2T (ACF 6 4 m @ 1 93 ~ART=NE =ds 36 m.
0] Crel, 2rg fovefa e |
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e AEaeni faem st Tiemsen R 4 m wiRe) oF 9 Ry
GERE 36 m. fHER A Mens T8 Ere i)

TF AEAER SF, SHd 9E, SRR ¥ 4 m e ®, o Fduf
36 m Bl = h €\ e i)

M 11th term of an AP is 38 and the 16th term is 73. Find the
‘ common difference. .

Bt I 29ifeq 1197 2eel 38 TF 16©Y “WH! 73. YR ow ey
T4 |
G3b FNFG Z6IfeR 1199 oMo 38 <R 169 “Mb 73. FHET Siwg [+ely
T

A WG SR 11 femr 38 s 16 T fswmn 73, iR
HRATIRET T |

el TR A 1137 98 38 T a1 169f 92 73 %, qI W UH AR
(common difference) 1 BF?

16/ Find the point on the x-axis which is equidistant from
(2, -5) and (-2, 9B 2

(2, —5) B (-2, 9) Y BN *R1 SRS X1 GoR_® AT {ChT fefy
41 |

(2, =5) @ (-2, 9) {Y 7 (P TWACT x-=ewa Tofed A [ e
Bl

(2, -5) 3W (-2, 9) F= A= THE THIEE xR gEiE 9
oA forar fig |

x-318 R 98 g I IR S (2, -5) IR (-2, 9) | WUEET B
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17. I sin A= %, calculate cos A and cotA. (A is an acute angle) 2
T sin A = %, cos A IF cot A el 41 1 (A 9B SpEEI)
% sin A = , cos A 43 cot A 14T 5741 | (A «=(6 O ITHCF)
I sin A = 3, cos A ¥Rl cot A &I feg| (A mﬁ‘lﬁw’mmta’m)
e sinAzgi B, A cosA IR cotA F WA UiEHH Ul (A TF

T E)

}& Evaluate /99 % S<1/9W fefy sca1/7m g /mm Fremfer 2
s1n 30°+ tan 45°—cosec60°
sec 30°+ cos60°+ cot45°

"J}Af tan2A =cot(A-18°), where 2A is an acute angle, find the
value of A. )

3 tan 24 = cot (A —18°), AT T fefg 341 | 2.A BT I |
T tan 24 = cot (A —18°), A-47 T Fef T 1 2A @3B ST |
9 tan2A = cot(A -18°), AT wH g1 2A 31 9% @7 @'

e tan 2A = cot (A —18°), &l 2A Th =& B, a1 A %1 HH 3 Hifg

3.0/ Prove that/ZFﬂ“T T /2N FE @ /B e &/ R Eﬁﬁ%rq%

cos A 1+ sin A
1+ sin A cos A

=2 eCA

A i1s an acute angle. 2

A &B] STHCP |

A {6 I |
A 3 999 @ 991 @ A

A TH IAH B
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Wg contains 3 red balls and 5 black balls. A ball is drawn
at random from the bag. What is the probability that the ball
drawn is (a) red and (b) not red? 2

@4 (VTS 301 & WF 561 IO 69 9 OCE | @R O] @B 14
foeFeica Bl 27 | Bl IRMBI (@) T T8 (TN WF (b) T8 I8F G
BIfEel = 2

a3ib Wrce 3 A 9k 5B FEn Twen = =z | BB A g7 =
ARFSIC Bl ¢l | B FA6 (@) A9 98 RETH <% (b) FE 7S A 26TF
Tl TS 2

TR SETEE JE 3 W 96 SR AE 5 TEE 96 55| SN R S
N T TG | (@) ST TN STHE AR (b) T TSR SR S
SYI?

T I H 3 @ IR 5 Feh W F @ I A A w w g e
STl R | $9eh! MR @ € % e (o) @ 2 iR (b)) @ 16 A

SECTION—C / 9—=I¥1 / S—il / T—<Tgrn / T—w/

. Prove that V2 is irrational. 2
1T 1 @ V2 SRR | g
21T FCAT (V2 SR | L\{\(
HIEH @rEm & V2 2 T '
g Fifs 16 V2 = mafs g 7

23, Divide the polynomial p(x) by the polynomial g(x), and find
the quotient and the remainder : 3

P(20) IRAMCBIE g(x) TROMCBICT 2990 1, ST SIS Sioiead fefey 47

plx) I=MBERE g () IZ7MG TR 161 AN, G SRR @ SIeIgR e T

O
ik ¥
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p(x) e et g(x) e T T SR T TR T i
SETR p(x) T g(x) H A Y AR AETHS T IHS TG BN
'p(x)=x3 = Sc? +5x-3, qr(x)zx2 —

. If we add 1 to the numerator and subtract 1 from the
il
2

add 1 to the denominator. What is the fraction? 3
Im N TS 1 (@9 IFE T /9 o[/ 1 R S, 951 o =wesl 1.
oIy I et ZACoTeCR 1 1o A1, (90 B =e —21- SR M RE

I SN AR 1 @ IR GR TF-GF (F 1 [ IR, 93 st =m o1 |
I 3 ey =bee 1 @l IR, o ofb = 2 1wt 92

IR S TR 1 @ IEE AR TEIEEE 1 SR A, AN SEEaerE
1 o= " S gl T 1 e s =S L) S S
Q=1 |17

Re e d 1T AY 1w &, QP 15 e I 2 AR
Faa ® T 1@3%,@%%@@?&%!33%@%?

denominator, a fraction reduces to 1. It becomes = if we only

/z( Solve /S F /ST S/ AEHAT fogd /T HINT 3
V2x2 4+ 7%4 572 =0

,‘Z( The difference of squares of two natural numbers is 180.
The square of the smaller number is 8 times the larger number.
Find the two numbers. 3

VB! FreIS R F91 R 180. S IR I9f TEIDR 8 @ 7',
SR 71 A

7ib eI SROF s Renseest 180. b wRamfog asf 7o 8 @ =,
i3 b F=efy e |

AR sl sTeRA SR 180. ERm smfvmif sfen stfm smmif
8 T TR | SIS HHE g

<1 WTHfeh TR % T 1 R 180 T B TEA 1 T IS WAl A 8
T 8| ST T g Shife |

| X
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( 13 )

wn what ratio does the point (-4, 6) divide the line segment

joining the points A(-6,10) and B (3, - §) internally? 3
A(=6,10) WIF B (3, - 8) RY A0 @INT (-4, 6) RFyga & s
Twew 12
A(-6,10) &R B(3, -8) [ & @IRGT (-4, 6) R% § wepimwe
SRS FCH 2
A(-6,10) IR B (3, - 8) foml 77 T=ie™ Bidl Wi<rE! (—4, 6) faen m
TIATEAE TAI?
forg (4, 6), Tgel A(—6,10) TR B (3, — 8) =l Sl a1 {EREE T Fake
w9 ¥ Toh ouma o farforg st 27

2 ind the sum of the first 22 terms of an AP whose common
difference is 7 and the 22nd term is 149. 3

@] SR 29T AR OB 7 SF 227 sl 149 3 TE AN 225
AR SIS o 47 |

b B 291 TR BT 7GR 2299 WG 149 3¢ @F A9 226
Nd (e e e |

HAY TET ST STTER SREeEn 7 22 foesn 149 s™e
At fifs 22 fomaf senemd g

I GHIRR AG1 & T¥H 22 T& &AM TG i freew g @ 7§ iR
2297 78 149 B

29. In an equilateral triangle, prove that three times the square
of one side is equal to four times the square of one of its

altitudes. o
29 1 @ @Bl TRR faged @b IR 399 e wiw qor Tafey 39k
BT30S |

oI A (A G TR fagcem @ A2 0o fovsd o7 @b Tafen
TS DRI ST |
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BRAF WM & 98 TRe i AEEamiE oRe aefai =i
ATHEST S T8 SN i swEE g9 s

el wretg Byw #, fe Fifve % o h w g % 1 = fogm ses
e % = 3 9’ 73 o SR g B

/;K)énd the value of K if the points (8,1), (K,-4), (2,-5) are

collinear. £)

(8,1), (K, —4), (2, —5) [ fofb1 «w37 208 K 7 W ey 7 1
(8,1), (K, —4), (2, —5) R foalb @3 203 K-93 T Fefa e |
(8, 1), (K, —4), (2, —5) == Awn § graeni s K 7 71 g
K1 7 31a S afs Tt (8, 1), (K, -4), (2, - 5) 4iEt §)

3%. From each corner of a square of side 4 cm, a quadrant of
a circle of radius 1 cm is cut and also a circle of diameter 2 cm

is cut as shown in the figure below. Find the area of the
22

remaining portion of the square (Take © = =) : 3
oo foq® (TSN W 4 cm A=A 9Bl Ifcwas AfHI I AT 1 em
TP 51 J&< 9Bl (OFF FI ERY CT, TF 2 cm TPR 96 98 Fifd

mmnammwﬁwwwmﬁ(miﬁﬁwy

Aeed @ @A &G 4 cm q2F G BTFEg A @M 1 em
JPICET @FI6 J0ed G0 @A @B @S [AE GR 2 cm AIEH

< JTe (@B S AWR | IHAD WA WeR R e v

(n=37%azaw):

TREH wErmiaE (REAm 9 4 cm omEHf 9 slesme @
AFAAHE 1 cm §EEN T8 dE T @R T A W 90 2 om
GEA A S T AE S| S S AFE SR st R

(n=2772—_€|7i:ﬂéf3:f):
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4 cm YT 91 T 1 % T8F HH W 1 cm B a9 96 1 ww-agaty
F T R 9T S H 2 cm T 1 TF FH i e T 7 S fF D el
ﬁmw%mﬁmwmwmww(m%%eﬁm);

®

SECTION—D / T4l / S—Xl / S—aTgw / 9—m

We the pair of equations by reducing them to a pair of linear
equations :

- 4
AR Y U SIS, 74
e S (ool (alF SRR FAER 0 A I
TETA FEHATE S T TR GHHeE & T e g e
Trfeiea wHieRtor 3@ =t e THiw % I 3§ sl 3 8 HINY ;

5 1

_.—-i- ==

x—1 y-2
6 3

Sl =2

?./ABCD is a trapezium with AB||DC. E and F are points on
non-parallel sides AD and BC respectively such that EF is

parallel to AB. Show that
sl BT 4
EP “FC

B19-GM/21B [ Contd.
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ABCD GPifEarER AB || DC . 339 SPHE<E IR AD S BC I 8999 &
E %® F 70 R G773 @[ 25 0@ EF ¢ AB FHISIE | (& (@
AE _BF
ED FC
ABCD GPfemees AB||DC. @3 SON@a& 9/ AD @3t BC-99 T4
W B @ F 7% R% ORI (N A TS EF @R AB S |

AE BF
e @ — = —.
ED FC
ABCD fifsamii AB||DC. 3R famfs sma™ AD IRt BC T vramE
A E ¥ F 997 5 tEik aFE SeE e EF o) AB o @)
ey AE  BF
ED FC

ABCD % ®qeid & 5@ AB||DC 2| WA ol AD 3K BC W
e fag E ot F 58 =1 @@ 8 f6 EF ¥51 AB & ¥HI® 8| =gy i
AE _ BF
BD . RC

}4’. A 1-5 m tall boy is standing at some distance from a 30 m tall
building. The angle of elevation from his eyes to the top of the
building increases from 30° to 60° as he walks towards the
building. Find the distance he walked towards the building. 4

1'55 m €4 AF @& 30 m oY HGFPR 7|1 P 7awe 47 (2 =y |
(o6 SBFRICGE el (UG FoE =S e (969 537 241 TEIRPRBR Sty
T (19 30°F 21 60° CF7 AT | (S HTIRTFICGH FICA (IS ol 1qg Fiefq
3] |

1:5 m 779 @3 (&F 30 m THoR SGIRA (CF g vy wiisey wie |
Gl EEIRERIDe e (205 WA Ak x B (B4 (T Wb Sl
T (@1 30° (UWF 60°CT (AT TR | ©R HoIrba e (6 e 1Y
fefs g

1-5 m TS 9@ gEEEn 30 m Tt T SeetwE @ TemE e )
fofy wafmr et feftem sim ' e et vra aemerEE 30°
i 60° fam awrem | forll fafeeh wra o amm sSHaEE! e
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1'5 m o9 TF @3 30 m 39 TF 999 § FB g0 W G 3l 59 T'
S e Il IR W 2 99 IR 3@ ¥ W % R W I & 30°
¥ 60° B a1 2| 7aRy % 97 wam i o ferart gl o TR T 2

. Prove that the tangents drawn at the ends of a diameter of
a circle are parallel. 4

2909 T (4 I PR IS b1 G AR |

I I (T J0ST IO AR BTl =S ST |

S| _
mfﬁqﬁﬁ%ﬁgﬁ%mm%ﬁﬁm@%ﬁﬂéW-@r@m
B B

36, Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then

a triangle similar to it whose sides are 2 of the corresponding

3
sides of the first triangle. (Write the steps of construction.) 4

4 cm, 5 cm 9F 6 cm IF bl TGS SKFA T AR OF PR WWE

SR (RIS B fIes S I IM AR AW GPHOR Sl LA
%@cfa:ﬂu (T <R TR 1)

4 cm, 5 cm ¢R 6 cm AW G (GTT THA F(A R OO F AP
aaf fage o 901 AW AR 2em ey e IRFE 2 8 2T |

(erEeR ~Rmef F4 1)
4 cm, 5 cm A 6 cm AN A @I MG A/ o =

TeW SR 1Y THE REgm TR sl smarfEerT afy ety
: ﬁ@f&ﬁr@ﬁiﬁtﬁ%tﬁﬂﬁ@i (erflgam smeRE fa )

4 c¢cm, 5 cm 3R 6 cm YN T T By 6 wE A R TR sEes

TR T 3 By o T s, et e e ge fe 6 g g
Eﬁf%ﬂﬁ%l(ﬁﬂ%ﬁtﬁﬁﬁ%ﬁm)
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SECTION—E / &%l / &—HI¥l /| S—<TEFN /| T—9N

,}M toy is in the form of a cone of radius 35 cm mounted on
a hemisphere of same radius. The total height of the toy is.

15-5 cm. Find the total surface area of the toy. (Take t = %). =

bl [T T TIPS b1 WHCARRPT €9Fe 3-5 cm TIPS Bl *IR3Fed

ﬁﬁﬂmﬁm*@ﬁmia 155 cm. @HOR Yo el Fefg 3 |
n——{ﬁﬁ?n

G (T G2 AT @3 FHARTSE TR 35 cm IPNEE GFb
g RE SIS | (PERIGR 6 THS! B 155 cm. (@D T 4RI

fefy wcar | (n—%—z—?ﬁﬁ &X)

TR FUerE T §EE T A @R I 345 L g
RIS WRRRME | ST T S Se9E 155 cm, Y T ferg
TR fag (n:%%%ﬁq——xﬁsn)

% Fad B9 3:5 cm I TF g & AR H ¢, S 36 B 9w
HUTG R AR 21 39 Rawid & 9q0f = 15°5 cm 31 39 Raeli &

Tl GEE &S 9GS (7 27‘,? i)

Or / 731/ 93 / var / 1t

Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively
are melted to form a single solid sphere. Find the radius of the
resulting sphere. Also find the surface area of the new sphere.

(Take & = ?2)
74

6 cm, 8 cm 9 10 cm P b 419a (IR TR Bl ool (I
mws’aumcmwﬁﬁﬁaﬁmm@@cw

I Fef T 1 (n s[i%mﬁm)
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6 cm, 8 cm €k 10 cm IJPILT b “red
(TS o el ZCAAl | WeA

*RrIfe] e e | (m

(NF ST @B e

ceﬂaﬁawa‘ﬁcfﬂﬁcwqucﬂﬁﬁﬁa
=—WW)

6 cm, 8 cm AW 10 cm §E@EN TAYW g IR TERT R a9
TRH T GOR THEATE 6 | e gy | et figH | Sl Mem g

g e gl (m =

—z?ze‘mﬁm)

FA: 6 cm, 8 cm IR 10 cm Bt @ g % 6 3w Met
1 TR T S91 3 Mol SR ST 71 39 Y e 6 B wma fifvm)
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ﬂ marks distribution of 30 students in a mathematics
w2k examination are given below. Find the mode of this data : o
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